N . SM1 SM2 (x = 0.5)
SR M(p2jjp)  m(papztjets)  Exp.SM  Exp.SM - pata ;= 04TeV  my, = 14TeV

(GeV) (GeV) (before flt) (after flt) mgﬂ = 0.2 TeV mxﬂ = 05TeV

1 0-500 82.0£19.0 969 +9.0 90 319.0 +46 1 <0.01

2 0-500 500-1000 62.0+11.0 743+6.0 88 123 +£1.7 0.37 £ 0.06
3 1000-1500 4.84 +0.99 553 +0.85 6 0.40 £0.11 1.48 £0.19
4 >1500 041+ 0.15 044 +0.17 0 0.04 + 0.02 0.27 + 0.04
5 500-1000 196 £35 222425 21 1.29 +0.22 0.12 £ 0.02
6  500-1000 1000-1500 145+26 165420 17 0.84 = 0.16 8.18 4+ 0.94
7 >1500 4.00 £1.30 3.57 £0.98 2 0.14 £ 0.05 2.54 £ 0.35
8 1000-1500 1000-1500 270+ 056 299 £+ 047 3 0.03 £ 0.02 0.08 £ 0.01
9 >1500 439+0.78 5.01+£063 10 0.14 £ 0.05 0.27 £ 0.04
10

>1500 >1500 354+084 375+£0.72 1 0.08 + 0.04 0.03 £ 0.01




